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20255 F NIBEROMIFEEICBET 5508 (2)
KEAERR <AEXMR:BHEHTK, RIS 1L TIHERKRLSERN ; #1TF/KNot >

=15 B ARtk

A=t ML TIHRKNGIS (EEA)

BEHH:2025409H01H
HARS: 202540401 H~2026403A831H

4 A 58 64 78 8AH 91 10H | 11A | 128 1A 2H 38
BIFEIEE BEGL | BIESE | BEE Eu@E @R 9B I 14B)[IF:18(A)
BAT(R)|B AR 12(R)[#:17(K)[#&: 21 (K)
HESH L mg/| 0.003 — — <0.0003 — —
2T me/| RSN — — ND — —
pis) mg/| 0.01 — — <0.005 — —
) aNlied=FN mg/| 0.02 — — <0.005 — —
iit% mg/| 0.01 — — <0.005 — —
* 8K ER mg/| 0.0005 — — <0.0005 — —
7 ILFEILIKER mg/| RSN — — ND — —
Ik RUIBIEETZ =)L mg/| RGN — — ND — —
4% mg/| 0.01 — — <0.005 — —
= CHO[AA Y mg/| 0.02 — — <0.002 — —
migkxRE mg/| 0.002 — — <0.0002 — —
1,2-9 003 mg/| 0.004 — — <0.0004 — —
1,1-o900ITFLy mg/| R 0.1 — — <0.002 — —
S[17SrRRTFLY me/l | 004 — — <0004 — —
1,1,1-k)o0axT 2y mg/| 1 — — <0.0005 — —
15 1,1,2-k) /00T 2 mg/| 0.006 — — <0.0006 — —
K)yooTFLy mg/| 0.01 — — <0.002 — —
= ThkoooOxTFLY> mg/| 0.01 — — <0.0005 — —
1,3-UHronaRy mg/| 0.002 — — <0.0002 — —
P IR mg/| 0.01 — — <0.001 — —
ROy mg/| 0.003 — — <0.0005 — —
FAR AT mg/| 0.02 — — <0.0005 — —
F51 mg/| 0.006 — — <0.0005 — —
Bt ERRvERBEER] mg/l 10 — — <1.2 — —
oI FLy mg/| 0.002 — — <0.0002 — —
14-OFF Y2 mg/| 0.05 — — <0.005 — —
X ERILEE mS/m [1E/EUE L 1398 1564 1598 1570 1035
KIAXXLVRE pe-TEQ/I | 1E/&LLE 1 — — 0.15 — —
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KEAERR <AEXMR:BHEHTK, FREUSHT: ML TIHERKRLSERN ; #1TF/KNo2 >

=& 15 B RN S Sk

A=t ML TIHRKNGIS (EEA)

BEHH:2025409H01H
HARS: 202540401 H~2026403A831H

4 A 58 64 78 8AH 91 108 | 11H | 128 1A 28 38
BIEIEHE BAGT | ORISR | EEE E4EE2E[E: 9(A) IR 14A) [ 18(R)
BRATR)|BRAS(R) R 12(R) [ 1T OR) [#8: 21 (K)
ARE DL mg/| 0.003 — — <0.0003 — —
ELTY mg/| BlEhENE — — ND — —
£ mg/| 0.01 — — <0.005 — —
Hh N lied=FN mg/| 0.02 — — <0.005 — —
fiitF mg/| 0.01 — — <0.005 — —
2y #akER mg/| 0.0005 — — <0.0005 — —
T7ILEJLIKER mg/| BHtEhENCE — — ND — —
kK RUEBIEETZ =)L mg/| RS ENCE — — ND — —
4% mg/| 0.01 — — <0.005 — —
=S ooOoOiray mg/| 0.02 — — <0.002 — —
mig{kxE mg/| 0.002 — — <0.0002 — —
% 1,2-0900IT43y mg/| 0.004 — — <0.0004 — —
11-DYRATFLY me/l | @ ey 01 — — [<0002] — —
= 12-o/08TFLY mg/| 0.04 — — <0.004 — —
1,1,1-k)o0pxT Ry mg/| 1 — — <0.0005 — —
15 1,1,2-k) 0Ty mg/| 0.006 — — <0.0006 — —
K)oooTFLr mg/| 0.01 — — <0.002 — —
= ThSoOOxIFLY mg/| 0.01 — — <0.0005 — —
1,3-oyop7ary mg/| 0.002 — — <0.0002 — —
IR E mg/| 0.01 — — <0.001 — —
IV mg/| 0.003 — — <0.0005 — —
FARU AT mg/| 0.02 — — <0.0005 — —
Fo5. mg/| 0.006 — — <0.0005 — —
EMERRVEEREESR mg/| 10 — — 4.6 — —
goOIFLy mg/| 0.002 — — <0.0002 — —
14-OAF Y mg/| 0.05 — — <0.005 — —
XEXCEE mS/m |1E/FLE L 1545 1383 1535 1224 1254
KIAFTX I VRE pg-TEQ/I [1E/&LLE 1 — — 0.39 — —
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